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( Major )

Paper : 5.4

Full Marks : 60

Time : 3 hours

The f.gures in the margin indicate full marks

for the question:;

) I u1G-s<fr+t: )xe=e

(+) rTRFrs srfsqg{ frE-<s er$ erp q{Rtl{
qN fu{T I

({) lterft-erlw q-d $frl -€ fi?'f{ s's c"rKl

{1T ?

(q) !e fibf'< c{q erq'Eaq qn ft r

(q) 1ry6qrq41q-E' Tt<lq;ts ft or<i 1fr c+r<r < r

(s) csC$T fit qetsrt swR .lrR'oK slnl' q-c"l

s{ikr Els oc< 1R q$r+ qfu "x1i 2

(u) h{< lw?'v csnzbr sr1-qs qtvlr RD'rc< c{KI

t<qz

(E) '{Ttqk aexfi-a16 c,+Sr <lers ot6f tr-{ ?qcqr
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t2l (3)

a. I us{ ful : qx8=rr (q) q-<Rtb sN< TrW.s sEFlss c+?br srqio

(o) q-{qtb qTK 6"N sRq-{-{ a-m ft z rrc\d q.F{T q5r s'R-{ "rR r qen<m E?-d'{ sR !-6q:5q'q-6'

T-{I 6,.t{ {aFFK atq fr* I sFTFlfi fivc* efr qtrffD;{I qsKcFEil 
r

({) 'ft1q3"' qm ft l9r (q) '+f lcR' qtr$-erd-{ stst l-"rc$ efr \ne-qTu-ar

(ur) "11R {rks6 g{1-at 6s?fi srrrs qfl sR{ 
qIq?KqEII 

I

"fiRz qan+?br-q qN E-Cs{ s-{ r (s) "ffR q{K 5E<"f q-"rc6 efr qtcEl5;rl

(s) q-{qtb smr+ ft ft Th qq-o qq +-q ?<q., " qIsKeu-KI 
I

bem'q n{I (u) qomgr smrq qtfffrs ffir+tn il{ o-.s'.{

+R s? Etltetl{ (v"toi-l swzbT) <nsr6trls
s r fr mtrat ftfibt gm B-s< fi"ft : 6xs=)c ReN-qrTqqEqID-{I T-{t r

(re) 1-1sql' {bs< \S q<no sqnrft{ sn\o<t'{
til$&-r ft<-{* ftq cs-.*?c{ gme- kcq, ***
qrcqID-{I sil |

("f) qtR ilffi,stql{q-flr6 qrcEID;n siil |

(ut) qfr sTr c<rcn, 1ffi G<r r

(s) \-{qtt q+ orrfuI v61'---:1-o6{ 1wR fr+t I

s r fi 6q6a ftffi g:rs g-q{ frrtl ' )oxe=eq

(n) '{-{"Fi'T wette 9"tm <5{q\ a-frs sts1-4
r1-"1-c6 q1rqlF{t s-{t I

(q) 'rTu-tt' albs< $ vi+rr-rrgv sF{tR <rsqn
q-"rc{ efr 6rfi fr"ltt r
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